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NEW QUESTION 1
What is a concept associated with PIM sparse mode (SM)?

A. Reverts to forwarding when the pruning state times out.

B. Requires periodic joins to maintain the shortest path tree (SPT).

C. Recommended for use when high bandwidth connections exist.

D. Implements a push content to forward traffic from the multicast source.

Answer: C

NEW QUESTION 2

What is correct regarding multicasting and AOS-CX switches?

A. IGMP snooping is disabled, by default, on Layer-2 VLAN interfaces

B. IGMP query functions are enabled, by default, on Layer-2 VLAN interfaces
C. IGMP snooping is enabled, by default, on Layer-3 VLAN interfaces

D. IGMP-enabled AOS-CX switches flood unknown multicast destinations
Answer: A

NEW QUESTION 3
An administrator of a company has concerns about upgrading the access layer switches. The users rely

heavily on wireless and VolP telephony. Which is the best recommendation to ensure a short downtime for the users during upgrading the access layer switches?

A. Install the in-service software upgrade (ISSU) feature with clustering enabled
B. Install AOS-CX 6300 or 6400 switches with always-on POE

C. Implement VSF on the AOS-CX access switches

D. Implement VSX on the AOS-CX access switches

Answer: C

NEW QUESTION 4

A company is implementing a new wireless design and needs it to support high availability, even during times of switch system upgrades. The solution will involve

Aruba Mobility Controller (MC) and Aruba AP

connections requiring POE. Which campus AOS-CX switch solution and virtual switching should the company implement at the campus access layer?

A. AOS-CX 6400 and VSX
B. AOS-CX 6300 and VSF
C. AOS-CX 8325 and VSF
D. AOS-CX 8400 and VSX

Answer: B

NEW QUESTION 5

Examine the following AOS-CX configuration:
Switch(config)# class ip loT-traffic
Switch(config-class-ip)# match ip 192.168.0.0/16 any
Switch(config-class-ip)# exit
Switch(config)# pbr-action-list reroute
Switch(config-prb-action-list)# default-nexthop 10.100.1.2
Switch(config-prb-action-list)# exit
Switch(config)# policy loT-policy
Switch(config-policy)# class ip loT-traffic action pbr reroute
Switch(config-policy )# exit

Switch(config)# interface vlan 999

Switch(config-if)# apply policy loT-policy routed-in

Switch(config-if/# exit

Based on this configuration, which statement is correct regarding loT traffic?

A. 1 10.100.1.2 is not reachable, the IoT traffic will be automatically dropped by the switch

B. If a specific route is not available in the routing table, the traffic will be routed to 10.100.1.2

C. The next hop of 10.100.1.2 can be one or more hops away from the AOS-CX switch

D. All routes are ignored in the routing table for IoT traffic, which is routed to 10.100.1.2

Answer: B

NEW QUESTION 6
Which protocol should be configured to allow NetEdit to discover third-party devices?
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A. SNMP
B. SSH
C.HTTPS
D. HTTP

Answer: A

NEW QUESTION 7
The AOS-CX mobile app allows a network engineer or technician to perform which tasks? (Choose two.)

A. Use NetEdit to manage switch configuration.

B. Create a stack of AOS-CX switches.

C. Transfer files between the switch and your mobile device.
D. Securely access the switch using SSH.

E. Schedule an operating system upgrade.

Answer: CD

NEW QUESTION 8

An administrator in a company of 349 users has a pair of AOS-CX switches with connections to external networks. Both switches are configured for OSPF. The
administrator wants to import external routes on both switches, but assigns different seed metrics to the routes, as well as imports them as external type-1 routes.
What is the best way for the administrator to accomplish this?D18912E1457D5D1DDCBD40AB3BF70D5D

A. Create a route map with the correct route type and metrics

B. Define the route type and metrics in the OSPF process

C. Create a classifier policy with the correct route type and metrics

D. Define a class and policy map with the correct route type and metrics

Answer: A

NEW QUESTION 9
Which concept is implemented using Aruba’s dynamic segmentation?

A. Root of trust

B. Device fingerprinting

C. Zero Touch Provisioning
D. Colorless port

Answer: B

NEW QUESTION 10
A company uses NetEdit to manage a network of 700 AOS-CX switches and approximately 1,000 other SNMP-capable devices.
Which management solution should the company use to monitor all the devices, as well as see a topology picture of how all the devices are connected together?

A. NetEdit

B. Aruba AirWave

C. Aruba Activate

D. Network Analysis Engine (NAE)

Answer: A

NEW QUESTION 10
An administrator will be implementing tunneling between AOS-CX switches and Aruba gateways. Which list of protocols must minimally be allowed by an
intermediate firewall between two sets of devices?

A. IP protocol 50 and UDP 8209
B. UDP 4500 and IP protocol 47
C. UDP 8211 and IP protocol 47
D. UDP 4500 and UDP 8209

Answer: B

NEW QUESTION 12

An administrator is implementing a downloadable user role solution involving AOS-CX switches. The AAA solution and the AOS-CX switches can successfully
authenticate users; however, the role information fails to download to the switches. What policy should be added to an intermediate firewall to allow the
downloadable role function to succeed?

A. Allow TCP 443
B. Allow UDP 1811
C. Allow UDP 8211
D. Allow TCP 22

Answer: A

NEW QUESTION 15
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A network has two AOS-CX switches connected to two different service providers. The administrator is concerned about bandwidth consumption on the service
provider links and learned that the service providers were using the company as a transit AS.
Which feature should the administrator implement to prevent this situation?

A. Configure route maps and apply them to BGP

B. Configure the two switches as route reflectors

C. Configure a classifier policy to disable MED

D. Configure bi-directional forwarding detection on both switches

Answer: A

NEW QUESTION 18
A network administrator wants to replace older access layer switches with AOS-CX 6300 switches. Which virtual switching technology can the administrator
implement with this solution?

A. Both VSF and VSX

B. Only Backplane stacking
C. Only VSF

D. Only VSX

Answer: C

NEW QUESTION 19
Examine the VSX-related configuration of the core layer AOS-CX switch:

ICX-Tx-Corel{config)# vrf KA
ICX-Tx-Corel{config)# interface 1/1/45
ICX-Tx-Corel(config-if-1/1/45)# no shutdown
ICX~-Tx-Corel(config-if-1/1/45)# vrf attach KA
ICX-Tx-Corel(config-if-1/1/45)# ip address 192.168.0.0/31
ICX-Tx-Corel(config-if-1/1/45)# exit
ICX-Tx-Corel(config)# interface lag 256
ICX-Tx-Corel(config-ify# no shutdown
ICX-Tx~-Corel(config-if)2 no routing
ICX-Tx~-Corel(config-if)}# vian trunk native 1
ICX-Tx-Corel(config-if)# vlan trunk allowed all
ICX-Tx-Corel(config-if)# lacp mode active
ICX-Tx-Corel(config-if)# exit
ICX-Tx-Corel(config)# interface 1/1/46-1/1/47
ICX-Tx~-Corel(config-if-<1/1,/46-1/1/47>)# mtu 9198
ICX-Tx~-Corel(config-if-<1/1/46-1/1/47>)# exit
ICX-Tx-Corel{config)# vsx
ICX-Tx-Corel(config-vsx)# inter-switch-link lag 256
ICX-Tx-Corel{config-vsx)# role primary
ICX-Tx-Corel{config-vsx)# vsx-sync vsx-global
ICX-Tx-Corel (config-vsx)# exit
ICX-Tx-Corel(config)# vsx
ICX-Tx-Corel(config-vsx)# keepalive peer 192.168.0.1 source 192.168.0.0 vrf KA
ICX-Tx-Corel{config-vsx)# exit
ICX-Tx-Corel(config)# interface lag 1 multi-chassis
ICX-Tx~-Corel(config-lag-if)}# no routing
ICX-Tx~-Corel(config-lag-if)# vlan access 1
ICX-Tx~-Corel(config-lag-if)# lacp mode active
ICX-Tx~-Corel(config-lag-if)# exit
ICX-Tx-Corel(config)#int 1/1/1
ICX-Tx-Corel{config-if)# description access|
ICX-Tx-Corel(config-if)# lag 1

ICX-Tx-Corel(config-if)i# no shutdown
ICX-Tx-Corel(config-ifi# exit

A network administrator is troubleshooting a connectivity issue involving the VSX LAG (link aggregation) between the core and access layer switch, during HW
replacement of one of the core switches.
Which configuration should the administrator add to the core switch to fix this issue?

A. ICX-Tx-Corel(config)# vsxICX-Tx-Corel(config-vsx)# system-mac 02:01:00:00:01:00

B. ICX-Tx-Corel(config)# interface lag 1 multi-chassisICX-Tx-Corel(config-if-lag-if}# mtu 9198

C. ICX-Tx-Corel(config)# interface 1/1/46-1/1/471CX-Tx-Corel(config-if-vlan)# active-gateway ip 10.1.11.1 mac 02:02:00:00:01:00
D. ICX-Tx-Corel(config)# interface 1/1/451CX-Tx-Corel(config-if-vlan)# active-gateway ip 192.168.0.0 mac 02:02:00:00:01:00

Answer: D

NEW QUESTION 24
An administrator has configured the following on an AOS-CX switch:
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object-group ip address web-servers
10.1.12.2
10.1.12.3
exit
object-group port web-ports
eq 80
eq 443

What is the correct ACL rule configuration that would allow traffic from anywhere to reach the web ports on the two specified servers?

A. access-list ip server 10 permit tcp any web-servers group web-ports

B. access-list ip server 10 permit tcp any object-group web-servers object-group web-ports
C. access-list ip server 10 permit tcp any group web-servers group web-ports

D. access-list ip server 10 permit tcp any web-servers web-ports

Answer: D

NEW QUESTION 25
Which AOS-CX feature is used to prevent head-on-line (HOL) blocking?

A. VSF
B. WFQ
C.VOQ
D. VSX

Answer: C

NEW QUESTION 30
A network engineer for a company with 896 users across a multi-building campus wants to gather statistics on an important switch uplink and create actions based
on issues that occur on the uplink. How often does an NAE agent gather information from the current state database in regard to the uplink interfaces?

A. Once every 60 seconds
B. Once every 1 second
C. Once every 30 seconds
D. Once every 5 seconds

Answer: D

NEW QUESTION 34
What are best practices when implementing VSX on AOS-CX switches? (Choose two.)

A. The ISL lag should use the default MTU size.

B. Timers should be left at their default values.

C. The default system MAC addresses should be used.

D. The keepalive connection should use a direct layer-3 connection.
E. The ISL lag should use at least 10GbE links or faster.

Answer: BD

NEW QUESTION 35
Examine the network topology.

—

50 networks in
he 10.2.0.0/16 rang

10 networks in
the 10.0.0.0/16 range

20 networks in
the 10.1.0.0/16 range

" VLAN 10 Area 2

redistriouting
static route

The network is configured for OSPF with the following attributes:

Corel and Core2 and ABRs

Area 1 has 20 networks in the 10.1.0.0/16 range

Area 0 has 10 networks in the 10.0.0.0/16 range

Area 2 has 50 networks in the 10.2.0.0/16 range

The ASBR is importing a static route into Area 1

Core2 has a summary for Area 2: area 0.0.0.2 range 10.2.0.0/16 type inter-area
Here is the OSPF configuration performed on Corel:

Guaranteed success with Our exam guides visit - https://www.certshared.com



Certshared now are offering 100% pass ensure HPE6-A73 dumps!
rJ CEr‘tSharEd https://www.certshared.com/exam/HPEG-A73/ (121 Q&AS)

Core1(config)# router ospf 1

Core1(config-router)# router-id 10.0.0.1

Core1(config-router)# passive-interface default
Core1(config-router)# area 0.0.0.0

Core1(config-router)# area 0.0.0.1 stub

Core1(config-router)# area 0.0.0.1 range 10.1.0.0/16 type inter-area
Core1(config-router)# area 0.0.0.2

Core1(config-router)# area 0.0.0.0 range 10.0.0.0/16 type inter-area
Core1(config-router)# exit

Core1(config)# interface vian 10

Core1(config-ify# ip address 10.0.1.1/24

Core1(config-if)# ip ospf 1 area 0

Core1(config-if)# exit

Core1(config)# interface vian 100

Core1(config-ify# ip address 10.1.1.1/24

Core1(config-if)# ip ospf 1 area 1

Core1(config-if)# exit

Based on the above information, what is correct?

A. Area 0 has 13 routes

B. Corel has no OSPF routes

C. Corel has received one LSA Type 5 from the ASBR
D. Area 1 has 23 routes

Answer: D

NEW QUESTION 37
An AOS-CX switch is configured to implement downloadable user roles. Examine the AOS-CX switch output:

Access1(config)y# show aaa authentication port-access interface all client-status
Port Access Client Status Details

Client 00:50:56:b1:7a:37

Session Details

Port : 1/1/3
Session Time : 1887s

Authentication Details

Status - mac-auth Authenticated
Auth Precedence : dot1x - Not attempted, mac-auth - Authenticated

Authorization Details

Role :
Status : Not ready

Based on this output, what is the state of the user’s access?

A. No downloadable user role exists

B. MAC authentication has passed, but 802.1X authentication is in progress
C. The RADIUS request timed out to the AAA server

D. The port should be configured for 802.1X

Answer: D

NEW QUESTION 40

An administrator is concerned about the security of the control plane connection between an AOS-CX switch and an Aruba Mobility Controller (MC) when
implementing user-based tunneling. How should the administrator protect this traffic?

A. IPSec with a digital certificate

B. GRE with a pre-shared key

C. PAPI with an MD5 pre-shared key

D. IPSec with a pre-shared key

Answer: C
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NEW QUESTION 44

Examine the output from an AOS-CX switch implementing a dynamic segmentation solution involving downloadable user roles:
Switch# show port-access role clearpass

Role information:

Name : icxarubadur_employee-3044-2

Type : clearpass

Status: failed, parsing_failed

Reauthentication Period :

Authentication Mode :

Session Timeout :

The downloadable user roles are not being downloaded to the AOS-CX switch. Based on the above output, what is the problem?

A. The certificate that ClearPass uses in invalid

B. The AOS-CX switch does not have the ClearPass certificate involved

C. DNS fails to resolve the ClearPass server's FQDN

D. There is a date/time issue between the ClearPass server and the switch

Answer: C

NEW QUESTION 47

What is correct regarding policy-based routing?

A. Policies can only be applied to routed interfaces.

B. Policies can be applied inbound and outbound.

C. Monitoring of policy interfaces occurs every 60 seconds.
D. Policy actions include routing permitting or dropping traffic.
Answer: A

NEW QUESTION 52
Examine the network exhibit.

A network administrator is implementing OSPF on a VSX pair of aggregation switches: Aggl and Agg2. VLANs 10 and 20 are connected to layer-2 access
switches. Agg-1 and Agg-2 are configured as the default gateway for VLANs 10 and 20, with active gateway enabled.
What is the best practice for configuring OSPF on the aggregation switches and their connection to the Core switch?

. Define a layer-2 VSX LAG associated with a layer-3 VLAN interfac

. Enable active gateway for the Layer-3 VLAN.

. Define separate layer-3 VLAN interfaces between the aggregation and core switche
. Enable active forwarding for the Layer-3 VLAN.

. Define separate layer-3 VLAN interfaces between the aggregation and core switche
. Enable active gateway for the Layer-3 VLAN.

. Define a layer-2 VSX LAG associated with a layer-3 VLAN interfac

. Enable active forwarding for the Layer-3 VLAN.

IOMNMmMmOO >

Answer: A

NEW QUESTION 53

A network administrator needs to replace an antiquated access layer solution with a modular solution involving AOS-CX switches. The administrator wants to
leverage virtual switching technologies. The solution needs to support high-availability with dual-control planes.

Which solution should the administrator implement?
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A. AOS-CX 8325
B. AOS-CX 6300
C. AOS-CX 6400
D. AOS-CX 8400

Answer: C

NEW QUESTION 58
When implementing user-based tunneling on an AOS-CX switch, which component defines the primary and backup Aruba gateways?

A. Transit VLAN
B. Gateway role
C. Server group
D. Zone

Answer: D

NEW QUESTION 59
A network administrator wants to centralize the management of AOS-CX switches by implementing NetEdit. How should the administrator purchase and/or install
the NetEdit solution?

A. Install as a hardware appliance

B. Installed on a supported version of RedHat Enterprise Linux

C. Installed in a virtualized solution by using the Aruba-supplied OVA file
D. Installed on a supported version of Debian Linux

Answer: C

NEW QUESTION 64
What is correct regarding rate limiting and egress queue shaping on AOS-CX switches?

A. Only a traffic rate and burst size can be defined for a queue

B. Limits can be defined only for broadcast and multicast traffic

C. Rate limiting and egress queue shaping can be used to restrict inbound traffic
D. Rate limiting and egress queue shaping can be applied globally

Answer: A

NEW QUESTION 67
An administrator is implementing a multicast solution in a multi-VLAN network. Which statement is true about the configuration of the switches in the network?

A. IGMP snooping must be enabled on all interfaces on a switch to intelligently forward traffic

B. IGMP requires join and leave messages to graft and prune multicast streams between switches
C. IGMP must be enabled on all routed interfaces where multicast traffic will traverse

D. IGMP must be enabled on all interfaces where multicast sources and receivers are connected

Answer: B

NEW QUESTION 71
When comparing PIM-DM and PIM-SM, which multicast components are only found with PIM-SM in multicast routing? (Choose two.)

A. IGMP querier

B. Rendezvous point
C. Bootstrap router
D. Shortest path tree
E. Designated router

Answer: BD

NEW QUESTION 74
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